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No. 2 3 4 10 11 HiF HE

E F 4 WTFQ WTFQ WTFQ WTFQ WTFQ [[=Fiva
6 EH Hih sokkk skokokk kkkk kkkk kkokk 20 1P
8 KIE [&EE sokokk kokokk kkkk kkkk kkkk 20 1 P
10 F8 E dokkk skokokk kkkk kkkk kkkk 20 1P
12 = TGk sokokk kokokk kkkk kkkk kkkk 20 1 P
32 EE Ef7 dokkk skokokk kkkk kkkk kkokk 20 1P
38 INEF  EHIK ok 2 15
39 AR ER sk kokkk fokkk kkkk kkkk 200 1 P
40 EE FR sokokk kokokk kkkk kkkk kkkk 20 1 P
41 iR RIZR skkk kokokk kkkk kkkk kkkk 19 8§ P
42 FH E— Fokok ¥ kkk Rk % 10 12 P
43 5B ZEI}H sk kkokk ok *% 10 12 P
44 KR 3FREE * ok kokkk kokkk ok kk kkkk 18§ 9 P
46 #Hith IE X% % Kk kkkk k k% % 14 11 P
47 BF i ok kk ok kkkk  kkk kkkk 17 10 P
48 B3O #Mz2 * % * *k k xkkk 10 12 P
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No. 2 3 4 10 11 A& #HxE
E F 4 WTFQ WTFQ WTFQ WTFQ WTFQ NI 152
6 EH Hih *k k ok k kkkk kkkk ok x 15  H P
8 KIE [&EE * kk ok kk kkkk kkkk ok kk 1] 4 P
10 8% E skkkk kokokk kkkk kkkk kkkk 20 1 P
12 = L sk kokkk kk ok kkkk kkkk 18 3 P
2 KE RIT ok 39
39 IMAIR B8 ok ok *x 8 6P
40 EE FH sdokkk skokokk kkk  kkkk kkkk 19 2 P
41 MmN [IR * ok K K * o 8
42 @A E— * 112
43 S5 =% 0 13
44 KR 3RZE ok % 3 9
46 ZGith 1IE * * * 3 9
47 BF B * % fkk *k x 8§ 6 P
48 B0 Mz 0 13
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No. 2 F K 4 2 3 41011 JEfL
i H Waltz
6 BF Hih 6 2 4 5 4.0
8 KIg [E=x 2 4 3 3 3 3.0
10 &% E 71 1 1 110
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